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Enrollment No: _______________________         Exam Seat No:_______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2015 

 

Subject Name : Microprocessor and Assembly Language Programming 
 

Subject Code :2TE04MPL1                                                                     Branch :Diploma (CE) 

    

Semester :4             Date : 23/11/2015            Time :2:30 To 5:30          Marks :70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  8085 microprocessor is ______bit microprocessor.  

(a) 8      (b) 4       (C) 16      (d)  32 

 

 b)  The fetch-execute cycle is also known as_____. 

(a) Assembly line      (b) Cache       (C) Pipelining      (d)  None of these 

 

 c)  Which was the first microprocessor from the following? 

(a) Intel 4004      (b) Intel 8008       (C) Motorola 68020      (d)  None of these 

 

 d)  BIU stands for__________. 

(a) Bus interrelated unit      (b) Bus interface unit       (C) Biased interface unit  

(d)  None of these 

 

 e)  The instruction, MOV AX,[2500H] is an example of ____________ addressing 

mode. 

(a) Immediate     (b) Indirect       (C) Direct      (d)  Register 

 

 f)  Which of the following instruction is not valid? 

(a) PUSH AX      (b) MOV AX,5000H       (C) MOV AX,BX                       

(d)  MOV DS,5000H 

 

 g)  The point where the control returns after a subprogram is finished is known as 

_________. 

(a) Main address      (b) Program address       (C) Current address                    

(d)  Return address 

 

 h)  8086 microprocessor is ______bit microprocessor.  

(a) 4      (b) 16       (C) 8      (d)  32 

 

 i)  How many bit/s is/are stored by status register? 

(a) 1      (b) 4       (C) 6      (d)  8 

 

 j)  IP stand for _____________. 

(a) Instruction Point      (b) Instruction Peripheral       (C) Instruction Pointer       

(d)  None of these 
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 k)  A machine language instruction format consists of____________. 

(a) Operand field                                                   (b) Operation code field                                       

(c) Operand field  and  Operation code field         (d) None of these 

 

 l)  Stack follows__________ order. 

(a) Last in first out    (b) First in first out  (c) Last in last out  (d) Random 

 

 m)  The arguments of subroutine are stored in___________. 

(a) Queue    (b) Stack   (C) Linked list    (d) None of these 

 

 n)  Which of the following bus is Bi-directional? 

(a) Address bus   (b) Data bus  (c) Control bus  (d) All of these 

 

 

Attempt any four questions from Q-2 to Q-8 

 

Q-2  Attempt all questions (14) 

 (A) Explain the architecture of 8085 microprocessor with the help of diagram. 7 

 (B) What is Microprocessor? Explain Bus organization with diagram and describe all 

the buses.  
7 

    

Q-3  Attempt all questions (14) 

 (A) Explain the pin diagram of 8085 microprocessor with figure indicating all the 

pins. Also express the working of all the pins. 
7 

 (B) Explain various addressing modes of 8085 microprocessor. 7 

    

Q-4  Attempt all questions (14) 

 (A) Explain Arithmetic and logical instructions of 8085 microprocessor in detail. 7 

 (B) Explain 8085 microprocessor machine cycle with a suitable example. 7 

    

Q-5  Attempt all questions (14) 

 (A) Explain internal Register organization of 8085 microprocessor. 7 

 (B)  Explain basics of stack and subroutine in 8085 microprocessor.  7 

    

Q-6  Attempt all questions (14) 

 (A) Explain the architecture of 8086 microprocessor with diagram. 7 

 (B) Explain Flag registers of 8086 microprocessor. 7 

    

Q-7  Attempt all questions (14) 

 (A) Explain minimum and maximum modes of 8086 microprocessor. 7 

 (B) What is interrupt? What is the need of it? Give classification of interrupts and 

explain hardware and software interrupts in brief. 
7 

    

Q-8  Attempt all questions (14) 

 (A) Explain the addressing modes of 8086 microprocessor. 7 

 (B) Explain the following 8085 vectored interrupts: TRAP, INTR and  RST. 7 
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Q-1  નીચેના પ્રશ્નો ના જળાફ આ઩ો. (14)  

 a)  8085  માઈક્રોપ્રોસેસર એ ________ફીટ માઈક્રોપ્રોસેસર છે. 

(a) 8      (b) 4       (C) 16      (d)  32 

 

 b)  પેચ-એક્ષિક્યટુ સાઈક઱ _________ નામ થી ઩ણ ઓલખાય છે. 

(a) એસેમ્ફ઱ી ઱ાઈન (b) કે઴       (C) ઩ાઈ઩ ઱ાઈનંગ  (d)  આમાથંી કોઈ નહી 

 

 c)  નીચેના માથંી પ્રથમ માઈક્રોપ્રોસેસર કયુ ંહત ુ?ં  

(a) ઈન્ટે઱ 4004      (b) ઈન્ટે઱ 8008       (C) મોટોરો઱ા 68020      (d) આમાથંી કોઈ નહી 

 

 d)  BIU નુ ંપરંુૂ નામ______ છે. 

(a) ફસ ઈન્ટરરી઱ેટેડ યનુનટ (b) ફસ ઈન્ટરપેસ યનુનટ (C) ફાયસ્ડ ઈન્ટરપેસ  યનુનટ                   

(d)    આમાથંી કોઈ નહી 

 

 e)  ઈન્સટ્રકસન, MOV AX,[2500H] એ _____ એડ્રેનસંગ મોડ નુ ં ઉદાહરણ છે.                                    

(a) ઈમીડીએટ     (b) ઈનડાઈરેક્ટ       (C) ડાઈરેક્ટ      (d) રજીસ્ટર 

 

 f)  નીચેના માથંી કઈ ઈન્સટ્રકસન ળે઱ીડ નથી?  

(a) PUSH AX      (b) MOV AX,5000H       (C) MOV AX,BX                                               

(d)  MOV DS,5000H 

 

 g)  એ ઩ોઈન્ટ કે જ્યા ંસફપ્રોગ્રામ પરૂો થાય ઩છી કન્ટ્રો઱ ઩ાછો આળે છે તે _______છે.    

(a) મેઈન એડ્રેસ  (b) પ્રોગ્રામ એડ્રેસ (C) કરન્ટ એડ્રેસ    (d)  રીટનન એડ્રેસ    

 

 h)  8086  માઈક્રોપ્રોસેસર એ ________ફીટ માઈક્રોપ્રોસેસર છે. 

(a) 4      (b) 16       (C) 8      (d)  32 

 

 i)  સ્ટેટસ રજીસ્ટર દ્વારા કેટ઱ા ફીટ સ્ટોર થાય છે?  

(a) 1      (b) 4       (C) 6      (d)  8 

 

 j)  IP નુ ંપરંુૂ નામ _______ છે.  

(a) ઈન્સટ્રકસન ઩ોઈન્ટ  (b) ઈન્સટ્રકસન ઩ેરીપેર઱      (C) ઈન્સટ્રકસન ઩ોઈન્ટર                         

(d)  આમાથંી કોઈ નહી  
 

 

 k)  મ઴ીન ઱ંગળેજ ઈન્સટ્રકસન પોરમેટ ______________ ધરાળે છે. 

(a) ઓ઩રેન્ડ ફપલ્ડ (b) ઓ઩રે઴ન કોડ ફપલ્ડ (c) ઓ઩રેન્ડ ફપલ્ડ અને ઓ઩રે઴ન કોડ ફપલ્ડ                  

(d) આમાથંી કોઈ નહી  
 

 

 l)  સ્ટેક __________ ઓડનર અનસુરે છે. 
(a) ઱ાસ્ટ ઈન પસ્ટન  આઉટ (b) પસ્ટન   ઈન પસ્ટન  આઉટ (c) ઱ાસ્ટ ઈન ઱ાસ્ટ આઉટ           
(d) રેન્ડમ 

 

 m)  સફરૂટીન ની આર્ગયુનમેનટ્સ __________ મા ંસ્ટોર થાય છે. 

(a) ક્ય ુ        (b) સ્ટેક               (C) ક્ષ઱ન્ક્ડ ઱ીસ્ટ           (d) આમાથંી કોઈ નહી 

 

 n)  નીચેના માથંી કઈ ફસ ફાઈ- ડીરેક્ષ્ન઱ છે? 

(a) એડ્રેસ ફસ     (b) ડેટા ફસ      (c) કન્ટ્રો઱ ફસ       (d) ઉ઩ર ના ફધા 
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નીચેના પ્રશ્ન -૨ થી પ્રશ્ન-૮ માથંી કોઇ઩ણ ચાર ના જળાફ આ઩ો. 
Q-2  નીચેના ફધા પ્રશ્નો ના જળાફ આ઩ો. (14) 

 (A) 8085 માઈક્રોપ્રોસેસરનુ ંઆફકિટેકચર આકૃનત ની મદદ થી સમજાળો. 7 

 (B) માઈક્રોપ્રોસેસર એટ઱ે શુ?ં ફસ ઓગેનાઇઝે઴ન આકૃનત ની મદદ થી સમજળો અને ફધી ફસ ળણનળો. 7 

    

Q-3  નીચેના ફધા પ્રશ્નો ના જળાફ આ઩ો. (14) 

 (A) 8085 માઈક્રોપ્રોસેસરનો ઩ીન  ડાયાગ્રામ આકૃનતની મદદ થી સમજાળો અને ફધી ઩ીન દ઴ાનળો. ફધી 
઩ીન નુ ંકામ ઩ણ સમજાળો. 

7 

 (B) 8085 માઈક્રોપ્રોસેસરના નળનળધ એડ્રેનસંગ મોડ સમજાળો. 7 

    

Q-4  નીચેના ફધા પ્રશ્નો ના જળાફ આ઩ો. (14) 

 (A) 8085 માઈક્રોપ્રોસેસરની એરીથમેટીક અને ઱ોજીક઱  ઈન્સટ્રકસન નળસ્તાર થી સમજાળો. 7 

 (B) 8085 માઈક્રોપ્રોસેસરની મ઴ીન સાઈક઱ અનરુૂ઩ ઉદાહરણથી સમજાળો. 7 

    

Q-5  નીચેના ફધા પ્રશ્નો ના જળાફ આ઩ો. (14) 

 (A) 8085 માઈક્રોપ્રોસેસરનુ ંઈન્ટરન઱ રજીસ્ટર ઓગેનાઈઝે઴ન સમજાળો. 7 

 (B) 8085 માઈક્રોપ્રોસેસરમા ંસ્ટેક અને સફરૂટીન નુ ંફેઝીક સમજાળો. 7 

    

Q-6  નીચેના ફધા પ્રશ્નો ના જળાફ આ઩ો. (14) 

 (A) 8086 માઈક્રોપ્રોસેસરનુ ંઆફકિટેકચર આકૃનત ની મદદ થી સમજાળો. 7 

 (B) 8086 માઈક્રોપ્રોસેસરના ફ્઱ેગ રજીસ્ટર સમજાળો. 7 

    

Q-7  નીચેના ફધા પ્રશ્નો ના જળાફ આ઩ો. (14) 

 (A) 8086 માઈક્રોપ્રોસેસર મા ંમીનીમમ અને મેક્ષિમમ મોડસ સમજાળો. 7 

 (B) ઈનટ્રપ્ટ શુ ં છે? તેની જરૂર શુ ં છે? ઈનટ્રપ્ટ નુ ંળગીકરણ આ઩ી હાડનળેર અને સોફ્ટળેર ઈનટ્રપ્ટ ટુકમા ં
સમજાળો. 

7 

    

Q-8  નીચેના ફધા પ્રશ્નો ના જળાફ આ઩ો. (14) 

 (A) 8086 માઈક્રોપ્રોસેસરના એડ્રેનસંગ મોડ સમજાળો. 7 

 (B) 8085 માઈક્રોપ્રોસેસરના નીચેના ળેક્ટડન  ઈનટ્રપ્ટ સમજાળો. TRAP, INTR and  RST. 7 


